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T 4397 :
[REAfeTied 9297 &1 STqd 9igq 3R 7T T B :
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(iv)

(v)

(vi)

(vii)

(viii)

(ix)

57 F97-T7 § 37 Fv7 & | @4 I97 IHfAard & |

J97-97 T: TSI 7 [G9If57 8- @US &, &, T, &, TG o |

GUE & - o7 &7 1 8 20 FglascHid JHR & J97 & | Ie4% 97 1 3% #1 & |
GUE & — 97 &1 21 @ 24 317 T30 JHR & J97 8 | FeI% J97 2 3H] BT
g | 37 §o9] &7 3T 40 V53] G 37 757 7@ ST S |

TUE T - Y7 G&IT 25 G 29 TY-IF0T JHR & Y97 & | Fed% Jo7 8 37H] &1 & |
57 Y71 %7 3T 60 el & 3% &1 for@r Sirr =ifzy |

GUE g — I3 G&I1 30 & 33 FH-3tIT YHR & Y97 & | Yedb Yo 5 bl BT 8 |
57 Y71 %7 3T 120 Vied] & 37ferk 787 forar ST =ifay |

GUE & — Y97 G&I7 34 T 36 HH-3MIRA/FId-eRa F97 & 5747 &7 39-397 8 |
9% J97 4 371 FTE |

GUE - J¥7 G&IT 37 HIFIGT HIvTT-3ERT I97 & 15 & 917 & — 87 (a) 3/dz1@
(2 37%) 37K 37(b) - YT (3 37%) | 39 J97 & FA5 3% 5 |

$G% AR, & § 1% Fiesiad gieneEl & c7e wlel aor JrHl=" 37 Semia

] @ T W U I T 1597 T E | § ) & I daer gheantaa wiandT &
7@ |

TS &
(Fgfaemedta we) (20x1=20)

1992 H WG H Hidu™ dxned ik fafgd # 9 forg geem A wfgaett

foIu rmeger <Y serEe Y T 2 1

(A) A gl

(B) TSY 9wl

(C) faum uftwe

(D) Y=

R Aoy | afviq Trer fefafad § 9 fopd g o I 3T g 2 1

(A) == =

B) T Il

(C)  wHerdl g

(D) o hl 99 faug
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General Instructions :
Read the following instructions carefully and follow them :

(i)
(ii)

(iii)

(iv)

(v)

(vi)

(vit)

(viii)

(ix)

This question paper contains 37 questions. All questions are compulsory.
Question paper is divided into six sections — Section A, B, C, D, E
and F.

Section A - Questions no. 1 to 20 are Multiple Choice type questions. Each
question carries 1 mark.

Section B - Questions no. 21 to 24 are Very Short Answer type questions.
Each question carries 2 marks. Answer to these questions should not exceed
40 words.

Section C — Questions no. 25 to 29 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions should not exceed
60 words.

Section D — Questions no. 30 to 33 are Long Answer (LA) type questions. Each
question carries 5 marks. Answer to these questions should not exceed
120 words.

Section E - Questions no. 34 to 36 are Case-based/Source-based questions
with three sub-questions. Each question carries 4 marks.

Section F - Question no. 37 is Map skill-based question with two parts —
37(a) from History (2 marks) and 37(b) from Geography (3 marks). This
question carries total 5 marks.

In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired candidates
only.

SECTION A
(Multiple Choice Questions) (20x1=20)
In which one of the following institutions in India was a system of
reservation for women made by amending the Constitution in 1992 ? 1

(A) Lok Sabha

(B) Rajya Sabha

(C)  Legislative Council

(D) Panchayat

‘Education’ falls under which one of the following lists given in the Indian
Constitution ? 1
(A)  Union List

(B)  State List

(C)  Concurrent List

(D) Residuary Subjects
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V)

3. T oAl o 9 T QU MU qehi i ufgu 3R W faehew 1 =9a il |
I. 99T <hl THTEAT bl hH HLAT B |
II. 9o/ oF <At Jfsham o1 3Ta%g LT & |
I fafaeamet o gmee wenfud s»ar 2 |
IV. &< § AN bl 9t sl sigrdn & |
ferepeu .
(A)  Had 119 IITE 7 |
(B) had IL 119 IVEE # |
(C) HadLIIT VTSN F |
(D) ad I IVES 3 |

4. 9Rd 4 N o IdTed ¥ fefaiaa asai & ofw (Siisa °) & fore stfeesan
T =[IqH A Tl T& faehed &1 =994 HINT |
(A) HET YW, HEWISE, hetesh, ATem
(B) WA YW, HRNISE, IS, HrA1h
(C) UENWISZ, HE YN, hiceh, S
(D) HENTSg, IAIfSwm, HET UC™l, HICh

5. ¥ I T @y 119 Hifve 3R &l fasrey &1 =99 hifse |

Ty I &7y 11

€L, (7a1)
i WER W a. Hags
i.  E%s b. M
iii. WTE@ST ATA c. Har
iv. :I'I"'I'@:f d. #gHd
Tererew :

(A) i-a,ii-b, iii-c, iv-d
(B)  i-b,ii-a, iii-d, iv-c
(C) i-c,ii-d, iii-b, iv-a

(D) i-c,1ii-d, iii-a, iv-b

32/4/2-14 Page 4 of 27




NN\

3. Read the arguments given in the favour of power sharing and choose the
correct option. 1
L. Reduces the likelihood of bias.

I1. Barricades the decision-making process.

III. Accommodates diversities.

IV. Increases the participation of people in power.
Options:

(A) Only ]I, II and III are correct.

(B)  Only II, IIT and IV are correct.

(C)  Only ]I, III and IV are correct.

(D)  Only I, IT and IV are correct.

4, Choose the correct option for the following States’ share (in percentage) in
the production of ‘manganese’ in India from the highest to the lowest
order. 1
(A) Madhya Pradesh, Maharashtra, Karnataka, Odisha
(B) Madhya Pradesh, Maharashtra, Odisha, Karnataka
(C) Maharashtra, Madhya Pradesh, Karnataka, Odisha
(D) Maharashtra, Odisha, Madhya Pradesh, Karnataka

5. Match Column I with Column IT and choose the correct option. 1
Column I Column 11
(Dams) (Rivers)
1. Sardar Sarovar a. Sutlej
ii.  Hirakud b. Krishna

iii. Bhakra Nangal c. Narmada

iv.  Nagarjuna Sagar d. Mahanadi
Options:
(A) i-a, ii-b, iii-c, iv-d
(B)  i-b, ii-a, iii-d, iv-c
(C)  i-c,ii-d, iii-b, iv-a

(D)  i-c,ii-d, iii-a, iv-b
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6. 9 @ wua few muw & | I Aftremed (A) 3 *RU (R) B | 31 A1 I gfeu
3R 9l foeheg =1 =9 hIfse |
HIT (A) : Teaem # uftg gl AR *s & § a9 HerE Ushd d
HTHAT @ |
HRU(R)  : 39 g TAHE gl 1 Sl 1 TAN Hleh AR
RO I Bl A% ST T |

forerea :

(A) (A) 3R (R) A1 @&l 7, Al (R), (A) <t Tt =ame 77 2 |
(B) (A) 3R (R) gH1 @&l § 3R (R), (A) N Tl == B |

(C) (A Gl 2, Afh (R) T 2 |

(D) (A) Terd B, Afer (R) @61 2 |

7. Ty=fafed 4 @ feaq #e1 f6 — “qgur Sver i & g8 HeHaH A &, e 98l
qrewl |7 ?

(A) IR W
(B)  HgTcHT TIeht
(C) SIgH A
(D) Twrged ol

8. &Y & Hidt Tau uidl’ & TEUeh ¥ Tefed Tal fasheu w1 9w HifS |
(A) gYN I 99 d ST 48®
(B) TR HUATH T TITHTI T
(C) HI.3R. TE g AT 8
(D) HEHT e o TER 92

9. fh TIW & qfd & 7w @&l foshed 1 ==H I |
T ant (fies ®<¢) @ 9Ra 9 gfrgd uften SR < gEL W
H uged 9 |
(A)  IH T (G & S
(B) hUS 9 AT
(C) 3N & gl
(D) Wl & I Uy
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6. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option. 1

Assertion (A) : The famous ‘Chipko Movement’ in the Himalayas
successfully resisted deforestation in several areas.

Reason (R) : Through this, community afforestation campaign with

indigenous species was made enormously successful.

Options:
(A) Both (A) and (R) are true, but (R) is not the correct explanation of
(A).

(B) Both (A) and (R) are true and (R) is the correct explanation of (A).
(C) (A)is true, but (R) is false.
(D) (A)is false, but (R) is true.

7. Who among the following said — “Printing is the ultimate gift of God and
the greatest one.” ? 1
(A)  Martin Luther
(B) Mahatma Gandhi
(C) Johannes Gutenberg
(D) Rashsundari Devi

8. Choose the correct option, related to the founders of the ‘Swaraj Party’
within the Congress. 1
(A)  Subhas Chandra Bose and Jawaharlal Nehru
(B) Acharya Kripalani and Jayaprakash Narayan
(C)  C.R. Das and Motilal Nehru
(D) Mahatma Gandhi and Sardar Patel

9. Choose the correct option to fill in the blank. 1

from India and Southeast Asia travelled through ‘Silk Route’
to other parts of the world.

(A)  Gold and silver ornaments
(B)  Clothes and spices
(C)  Grain and pulses

(D) Iron and other metals
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10. TAfaRgq Terstl sl FIHHATIER FaEdd shifve 3R T8l fasheq &1 ==F
ST |

I. %1E hl Shifd

II. U™ T et T gHe

III. 3l ST TEhIsRLUl

IV. fouat snfa |y

farepeu -

(A) L IL IV, III (B) 1L IV, 1, III
(©) ILIIL T, IV (D) 1, III, 11, IV

11. = @ wem few mw € | 3 eAfirmed (A) 3t wHE (R) B | @1 el @l ufgu
IR T faerew &1 == KIS |
SYHIT (A) : S HS HIQRI Bl el o1 b [T IR T8 8d ¢ |

HRO(R)  : TS AN o UE ROTHR & el @ |

Tererew :

(A)  (A) 3R (R) 3 T& § 3R (R), (A) FI TE) =1 2 |

(B) (A) 3 (R) a1 Tél &, WA (R), (A) 1 wEt = 787 2 |
(C) (A @& g, fR (R) Tod & |

(D) (A) Tad &, dfhd (R) @81 B |

12. O U faE & (L uA.dLdl.) fefdfea 5 @ fhm sar w9
foepra feard” wemTfara swear B 2

(A)  fafmion, srEcET iR e

(B) Tremm, Tameey 3R uid Ak 3T

(C) TSI 31, Trey 3N dfh

(D) ¥ TRl 3G, MeEfiEhl 3R TR
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10.

11.

12.

Arrange the following incidents in chronological order and choose the

correct option. 1
I. French Revolution
II. Napoleon’s invasion of Italy

III.  Unification of Italy

IV. Vienna Peace Treaty

Options:
(A LIL IV, III (B) II,IV,I, III
©) ILILI IV (D) LIILIL IV

Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements and choose the correct option. 1
Assertion (A) : Banks are not ready to lend money to certain borrowers.
Reason (R) : Some people do not have collateral.
Options:
(A) Both (A) and (R) are true and (R) is the correct explanation

of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of

(A).

(C) (A)1is true, but (R) is false.
(D) (A) is false, but (R) is true.

On which of the following basis does the United Nations Development
Programme (UNDP) publish the ‘Human Development Report’ ? 1
(A)  Manufacturing, Infrastructure and Health

(B) Education, Health and Per Capita Income

(C) National Income, Health and Banking

(D)  Gross Domestic Product, Technology and Innovation
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13. frafafga 4 @ H-81 e Ivdtentor o AR 61 & JuH Ll § ?
(A) AR R K Fqaeht ULl ol geHT
(B) 3IA SliaA T <Rl JaH il
(C) <=M o S digl T B TehTohUT HTT
(D) foceft sufa=i =t pia v & fore foms en 3

14. = 3§ %A few mu F | 3 rfispem (A) 3R HWO (R) B | A1 AT B Ufeu
3R T faehew &1 == KIS |

STHYT (A) : WRA W HIs Wl K I dX | TR H AGRAN Wl SRR
T} L Tkl B |

FROT(R)  : WRA | TYF h] TsT THR TIehd il & |

forerea :

(A (A) 3R (R) TH T&l § 3R (R), (A) H 981 =TT 2§ |

(B) (A) 3 (R) a1 Tdl §, AR (R), (A) 1 w&t = 787 2 |
(C) (A T 7, AfR (R) TTed & |

(D) (A) Ted 8, T (R) W& 2 |

15. kU & ey 4 ffafgd afifeafa = gfeu o =01 & grrens gv@ 6
TEM iV |

TelH 3T o ToIu hriefiia YSit Rl FRLd ohl 3T < gRI U hdl & | 0T 34
3G o HRRIA Gl qT 316 ol THI T YU i H GG hidl 3 |

I
(A) Eci™ 9 R0 ST YR & ST |
(B) G| <hl HATS §¢ I |

(C)  Scured H et T |

(D) Hli™ 1 % g5ash H HH Hhal @ |
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13. Which one of the following statements best describes the meaning of

‘Globalization’ ? 1
(A) Removal of tax barriers on trade
(B)  Providing higher standard of living
(C)  Process of rapid integration between countries
(D) Taking special steps to attract foreign companies
14. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option. 1
Assertion (A) : No individual in India can legally refuse a payment
made in rupees.
Reason (R) : In India the rupee is authorized by the State
Governments.
Options :
(A) Both (A) and (R) are true and (R) is the correct explanation
of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of
(A).
(C) (A)1is true, but (R) is false.
(D) (A) is false, but (R) is true.
15. Read the following situation regarding credit and identify the positive
impact of credit. 1

Salim obtains credit to meet the working capital needs of production. The

credit helps him to meet the ongoing expenses and complete production

on time.
Impacts:
(A)  The burden of credit will increase on Salim.
(B)  Salim’s income will increase.
(C)  The production will decrease.
(D) Salim may get stuck in a debt trap.
32/4/2-14 Page 11 of 27 P.T.O.




(D) =g

Fie: MHEcIiga Fo7 a1 gleariaa qagmfda & o7 397 ear 16 & & |
&/

frfafad 4 & fope & i el wRa & dhal ol 3 (Sh.Ehdh) ¥
Geriferes 8 2

A) TR
B) fedu=s

(C) qdrEeh
(D) <qIH
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16. Study the following picture. The work done in the picture comes under

which one of the following sectors of the economy ?

(A)
(B)
()
(D)

Note : The following question is for the Visually Impaired Candidates only,

Primary

Secondary
Tertiary
Quaternary

in lieu of Q. No. 16.

Which one of the following sectors has the maximum share in the Gross

Domestic Product (GDP) of India ?

(A)
(B)
(®)

(D)
32/4/2-14

Primary
Secondary
Tertiary

Quaternary
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17. hdd i HHEfafgd fosmsarett =1 ufeu iR T@l fosrey =1 === ST |
I. %9ad wd g gHe
II. M % 908 G

III. =4k shi TTiAT
IV. SgHEIH &l ITEA
fereren :

(A) Haa LII9 [T B |
(B) e IL, III & IVER & |
(C) haa L II9 IVES B |
(D) had [ IIdIVHSE 3 |

18. Tfafea & & fohm & o wfgemsti &1 Au T "ag (2018) # s
g 3feres ot ?

NI -+
(B) 3wt (3T 9 gfemft)
(C) [
(D) WRmE
19. T=fafga eoi 4 @ fored o sqaeen 8 2
A == (B) UTfehtT™
(C) UIH T ufEH (D) %=

20. = @ wom fw U 2 | A ANRRE (A) 3R HRU (R) F | GHI HMT W AfeT
3R Tl forehed w1 =34 HIT |
STHYT (A) : MY TAlhad TSI Gall o T Tg1 ot Fehdl & |
FRU(R) - THaitea Sy shead ooH-31ad fatea-a=1 % Jfa Jarees
g, % % ufd & |

forerea :

(A) (A T& 7, dfh (R) Terd 2 |

(B) (A) T &, i (R) T&1 2 |

(C)  (A) 3R (R) gH T& & 3 (R), (A) N T == 7 |

(D) (A) 3R (R) gHT T& 7, AR (R), (A) T T =amen 757 2 |
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17.

18.

19.

20.

Read the following characteristics of democracy and choose the correct
option. 1
I. Free and fair elections

I1. Equality before law

III. Dignity of a person

IV. Majority rule

Options :

(A) Only ]I, II and III are correct.

(B)  Only II, IIT and IV are correct.

(C)  Onlyl, III and IV are correct.

(D)  Only I, IT and IV are correct.

In which of the following regions was women representation the highest

in their respective National Parliaments (2018) ? 1
(A) Nordic countries
(B) America (North and South)

(C)  Europe

(D) Asia

Which one of the following countries has a two-party system ? 1

(A) China (B) Pakistan

(C)  United States of America (D) France

Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements and choose the correct option. 1

Assertion (A) : Modern democracy cannot function without political
parties.

Reason (R) : Elected representatives will be accountable only to their

constituencies, not towards the country.
Options:
(A)  (A)1is true, but (R) is false.
(B) (A)is false, but (R) is true.

(C) Both (A) and (R) are true and (R) is the correct explanation
of (A).

(D) Both (A) and (R) are true, but (R) is not the correct explanation of
(A).
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21.

22,

23.

24.

25.

26.

27.

28.

29.

ECLUERE|

(e Trg-sw W) (4x2=8)

(a) WRA h FETCHh Fael H HiagW H qem w1 wlew @ fogeti |
HIfT | 2x1=2

AT

(b) WG ! HETCH SHAEYT H Halod A shi YR 1 qa&0r o1 fagsi
T $ifse | 2x1=2

“URa | IR o1 o <led hl 3THW FWEHAT § |7 3e8W dfgd 39 hed <hi
RS HifT | 2

“Seftaelt 9t e T § T 3R @ H & ST o |7 39 weF @ fowero
%F”\QQ | 2

“foreer =R fofie 23N o ST bl SIS | 98Tk BidT & |7 Sl & ded
o 30 HeF i gfse HifrT | 2

Qus T

(erg-3vdT we) (5x3=15)

e & faem & fowg § fafsw o hi arond 5= = 8 9edl 8@ 2 3eEn
gfgd =are $ifsu | 3
FrfuTfses v 1 fohmal = famyaret 1 aui il | 3x1=3
T el o &I 1 shl STEAT HIT | 3

“Frg 3 TSI AR & o T HT dCall gAR dfage i s sra g 17
39 A i gfee HifTT | 3

(a) U g | fafy dgemi, &t a1 wiwiell @ Heg ST -STerT Tigl

 HHfgeh TYHUH T W Ky foekiea foram ? 3grewon dfed Tose Hhifviw | 3

HAAAT

(b)  “Hgrern T < o=l 3 Tawer’ 1 TN % TN H AAGU hl I
gae oft |” 3eTgTn afgd 39 YA shl U1 hIfVT | 3
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21.

22.

23.

24.

25.

26.

27.

28.

29.

SECTION B
(Very Short Answer Type Questions) (4x2=8)
(a) Examine the role of the Constitution in the Federal System of
India in two points. 2x1=2
OR

(b)  Examine the role of the Supreme Court in the Federal System of
India in two points. 2x1=2

“India has enormous possibilities of tapping solar energy.” Explain the
statement with example. 2

“Until the nineteenth century, poverty and hunger were common in
Europe.” Analyse the statement. 2

“Foreign trade results in connecting the markets in different countries.”

Support the statement in context of globalisation. 2
SECTION C
(Short Answer Type Questions) (6x3=15)
Why could different persons have different notions of a country’s
development ? Explain with examples. 3
Describe any three features of commercial farming. 3Ix1=3
Explain the main functions of political parties. 3

“Sharing of power between the Union Government and State
Governments is basic to the structure of our Constitution.” Support the
statement. 3

(a) How did people belonging to different communities, regions or
language groups develop a sense of collective belonging in the

National Movement ? Explain with examples. 3
OR
(b)  “Workers had their own understanding of Mahatma Gandhi and
the notion of ‘Swaraj’.” Explain the statement with examples. 3

32/4/2-14 Page 17 of 27 P.T.O.




30.

31.

32.

33.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

32/4/2-14

Qug "
(e -swia we) (4x5=20)

“emfed s U iRl I TIUT 3 HEEAT hl IRl & |

3CTEUN Tfed 39 o hl W hifoly | 5
ST

“forsht &zrep <Y Tifafafert =1 < oy i e gl @ |7 Sergn |fgd

Y oA hl W hIIT | 5

3EM foh8 TR T IGET o H&d G § ? T T W fheal g1 gedi

1 3@ HINT | 3+2=5
ST

e fohE TR I TGWUT % YHE SR & ? 91 TGVl hl HHEI
THTH @ fotu fohegl gt germal w1 3g@ HIfT | 3+2=5

AN 31 Topell oft Jehfcueh IME SHaEe i ol § lehas ol o1 9Hg

HTd & ? 3Id dohl Aigd T8 hifaY | 5

AYAT

Alhdd foh8 TR Teh ITHGRI Ud RIS IMEH el 7 ? 3fad dehi
gigd Tuse i | 5

“reftet hIfd o SHIETER AT W U ATfesh dgaT i WiaHT Ut <t |7

3TYTH Tehl Aigd 36 HYH hi TN T | 5
HAUAT

“IaH o TaaEa TUH A ) AT § e i o | Usd Wrers

1 TR ThAT |7 IUYh qohl Afgd 36 YA hi SATEAT HINT | 5
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30. (a)
(b)
31. (a)
(b)
32. (a)
(b)
33. (a)
(b)
32/4/2-14

SECTION D
(Long Answer Type Questions) (4x5=20)

“There is a need for protection and support of the workers in the

unorganised sector.” Examine the statement with examples. 5

OR

“Activities in the private sector are guided by the motive to earn

profits.” Examine the statement with examples. 5

How are industries the main source of water pollution ? Mention

any two suggestions for the conservation of water. 3+2=5

OR

How are industries the main factor for air pollution ? Mention any

two suggestions to overcome the problem of air pollution. 3+2=5

Why do people prefer democracy over other alternatives ? Explain
with suitable arguments. 5

OR

How is democracy an accountable and efficient system of

government ? Explain with suitable arguments. 5

“The French Revolution created a sense of collective identity
amongst the French people.” Explain the statement with suitable

arguments. 5
OR

“The Greek war of independence mobilised nationalist feelings
among the educated elite across Europe.” Explain the statement

with suitable arguments. 5
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e F
(Sha-sreiia /ara-anenfia a9 (3xd=12)

34. fou ww Eia =i ufeu 3R 37k A= ST T TAT o IR ST

1857 @ fagrg & oTg 99 <l Tasdl o Ufd &A1 e T | g SUAT A
THY U9 H1 Hg 9 B hl AT hHI | STA-SAT WIS FHER-I ToCArg & g0
T gEr gid Y, -l fufafits TR § e R % e W 9gd o
B T | TSR Y8 HT % d9 W 1878 H IAIRITR W UF AN T fea
T | 39 TR I AN Y9 H S e 3TN TUIGhIT sl T8 i 1 SATh
T Ud T | o1 ¥ WehR 4 fIfve ween & |4 arer viwTs et W fafia
ToR @ IE® B & | 3R TRl e w1 arft SO oo Smar o @ ST&eR ol
qEc Sdra af STl off, 3 SR =dTeHT <l STgHT g3 1 TSN hl Wed fehal
ST ehdl o1 3 BUTS shI 7 B <l S Fehell o |

(34.1) ‘TR & U’ Tohd T W STreicd o 2 1
(34.2) 1857 & fagig & e 9 <kl Tdadr & Afd SUF 1 WIT F g
T 2 T9s¢ HIT | 1
(34.3) ‘TR I8 UFe’ AL B b fohral o1 YW sl SATEAT T | 2x1=2
35. feu T @iq =1 ufew 3t Sues 9 feu U ywAt & I A
g giufaat 9w

Sehl o STATIT UHIUT &30 | T KU h1 Ush I HId Tghil aHfcal g |
FEhIl AU o FGET 394 THIGHT l HS &A1 § HA o 0L, Thd i 7 |
3 TR s HEhrl wiufqal wva 7, S8 — fopumi, gl wa Htenfies qwgu
SCATIG <h! TEHRI THITAT | P TghRI AHIA FHYL oh T5IGIh Teh Td H HH
H 2 | 39k 2300 TRUM e B | IB U TSE U OSHT YT il
g | 39 M1 ¢S Sl ROMYR AFd U, 39 TR GHfd 4 S § 1 R0l T
foram 2 | 39 ISt 1 SWIUTA TEEAN I Tl oF o AT TRAT STl g | I8 RO
M o STG ol o1 GHU QR & [ohT ST Gehell & |

Yk FghH] THIA PHY ITHTT GleH, Gl JAT HY AR HH, TSl
qehed, TR A 3R 1= Tafie YR = @t o fofw ==or gaan st B |

(35.1) ‘Ggsrt GiHfa’ Swor & frg @i 1 378 & 2 1
(35.2) TTiuT faen@ § Tghi) Gfaa o I hl saren i | 1
(35.3) TII-TEEAT AHGI <h! Yoil oh Tohwgl gl @Il ol Ig@ HIT | 2x1=2
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SECTION E
(Case-Based/Source-Based Questions) (3x4=12)

34. Read the given source and answer the questions that follow :

After the Revolt of 1857, the attitude to freedom of the press changed.
Enraged Englishmen demanded a clamp down on the ‘native’ press. As
vernacular newspapers became assertively nationalist, the colonial
government began debating measures of stringent control. In 1878, the
Vernacular Press Act was passed, modelled on the Irish Press Laws. It
provided the government with extensive rights to censor reports and
editorials in the vernacular press. From now on the government kept
regular track of the vernacular newspapers published in different
provinces. When a report was judged as seditious, the newspaper was
warned, and if the warning was ignored, the press was liable to be seized
and the printing machinery confiscated.

(34.1) On which rule was the ‘Vernacular Press Act’ based ? 1
(34.2) Why did the attitude of the British change towards the freedom of
press after the Revolt of 1857 ? Explain. 1

(34.3) Explain any two impacts of passing the ‘Vernacular Press Act.” 2x1=2

35. Read the given source and answer the questions that follow :

Loans from Cooperatives

Besides banks, the other major source of cheap credit in rural areas
are the cooperative societies (or cooperatives). Members of a cooperative
pool their resources for cooperation in certain areas. There are several
types of cooperatives possible such as farmers cooperatives, weavers
cooperatives and industrial workers cooperatives, etc. Krishak
Cooperative functions in a village not very far away from Sonpur. It has
2300 farmers as members. It accepts deposits from its members. With
these deposits as collateral, the Cooperative has obtained a large loan
from the bank. These funds are used to provide loans to members. Once
these loans are repaid, another round of lending can take place.

Krishak Cooperative provides loans for the purchase of agricultural
implements, loans for cultivation and agricultural trade, fishery loans,
loans for construction of houses and for a variety of other expenses.

(35.1) ‘Cooperative society’ is an example of which source of ‘credit’ ? 1

(35.2) Explain the contribution of Cooperative Societies in rural
development. 1

(35.3) Mention any two sources of capital for Self-Help Groups. 2x1=2
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V)

36. fou Tw &Ia =i ufeu TR 37k = ST TT THAT o IR SINT

FaTEl FT G - qaEd fhdl Wt W o o™ H HEgEqul qfwert v

3 | W HETEEl T foeehg SUMNT 3T SATT-IHANT o BT g HHTSTh-T(h
IR gl T a1 &1 Gehd! 2 | 39 TEEted ¥ s=rd & fore fafie waw
T EHTGA] 1 T AGRID 2 | YA H g HIGH] 1 WU §gd H AdH
3R Tadent & T feran =1 fowar @1 ® | Igrewondd, wefsh 3 wEneEt & wweo
T 3T Tl 37 Srel H SAh hl & — “FHR U g AR hl AEwIhal Ifd h
%qud TS 7, cdl%%&ﬁ%m%rﬁagm%mgdsf |319ﬁ?rsnﬁtrr&rﬁz
T % [T 984 &, dfehd 9 9 & T 781 |7 Ik FgER favd 'R W
TG B oh ToIC ATer= 3R Tarell =ik qem Mg Seifiehl i SIuoeH
ygfa R 8 | 9 T 3caed o foaeg 9 3R 30 €&H W 3 g

TSR gRT 3cUTE o JER o |

(36.1) ‘GETEE MA@l gidTig i | 1
(36.2) THTEAT o TILIUT shl TTETIHAT hl TIC HIfT | 1
(363)Trr%‘|%ﬁﬁazﬁwﬁ TR I ﬁwlmﬁwiﬁ%ma@

37. (a)

(b)

32/4/2-14

$S 8, TIiohd TohEl oh TATCTd hl TIME o 1T T ? Toheal G1 IO I
fereeryor S | 2x1=2

W@UE o
(wraterm Sivrer-emenfia uva) (2+3=5)

qRA o QU T Yo {@I-AERT (Y8 27 W), § @ &AM hl ‘A’ 3R
B % ®Y ¥ JAfrd frn o 2 | =fdfga S h wgEar @ 3=

qEaT-U 37X 3 T3 M Ik g Gl 78 W@rsn w® fafgu
A. T8 TUE & TSt T fia H @dl v 9 fREE % fom

eI femam o | 1
B. 98 ¥JM Sl MY 7 THh hid qreT o7 | 1
WA & 3H ToHider W@qmee 4, eafafad 0 8 el @7 =t
ST Toml | guIisy 31 3eh 9 IR - 3x1=3

(i)  TEed —dd &

(i) T — JHE HIIAl @H

(iii) T — AT ST I

(iv) qdeIE — Y@ |5 9o
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36. Read the given source and answer the questions that follow :

Conservation of Resources : Resources are vital for any developmental
activity. But irrational consumption and over-utilisation of resources may
lead to socio-economic and environmental problems. To overcome these
problems, resource conservation at various levels is important. This had
been the main concern of the leaders and thinkers in the past. For
example, Gandhiji was very apt in voicing his concern about resource
conservation in these words: “There is enough for everybody’s need and
not for any body’s greed.” He placed the greedy and selfish individuals
and exploitative nature of modern technology as the root cause for
resource depletion at the global level. He was against mass production
and wanted to replace it with the production by the masses.

(36.1) Define the term ‘Resource Planning’. 1
(36.2) Explain the need for conservation of resources. 1

(36.3) Why did Gandhiji say — “There is enough for everybody’s need and

not for any body’s greed ?” Analyse any two reasons. 2x1=2
SECTION F
(Map Skill-Based Questions) (2+3=5)

37. (a) Two places ‘A’ and ‘B’ have been marked on the given political
outline map of India (on page 27). Identify them with the help of
the following information and write their correct names on the
lines drawn near them :

A. The place where Gandhiji started Satyagraha for indigo
peasants. 1

B. The place where Gandhiji broke the Salt Law. 1

(b)  On the same political outline map of India, locate and label any
three of the following with suitable symbols : Ix1=3

(i) Naharkatiya — Oil field
(ii))  Talcher — Major Coal Mines
(111) Narora — Atomic Power Plant

(iv)  Tuticorin — Major Sea Port
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Fig: REfiiaa 397 @ac ghearfaa qhgmaar & o7 397 §&q1 37 & € T
&/

febgl e 41 & I T | 5x1=5
(37.1) 39 ¥AE k1 A0 foifgu Sgf wiefist 9 i A @dl @ 9 fora
e ‘gz’ fomam o |

(37.2) 39 TIH o1 A1 fARGU gl st 5 T9eh S drer o1 |
(37.3) TETHieA a1 & Topm U= 4 fad B 2

(37.4) 39 USY 1 W fARau T8l qer=’ TE@ ST hHl @H Ea g |
(37.5) 38 TSI &1 1 faRaw srgf U Aiysh et g9 feda 7 |
(37.6) TCIToRITA TG IoH Tohd TS H Teq g 2
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Note : The following questions are for the Visually Impaired Candidates
only, in lieu of . No. 37.

Attempt any five questions. 5x1=5

(37.1) Name the place where Gandhiji started ‘Satyagraha’ for indigo
peasants.

(37.2) Name the place where Gandhiji broke the Salt Law.

(37.3) In which state is Naharkatia oil field located ?

(37.4) Name the state where Talcher major coal mines are located.
(37.5) Name the state where Narora Nuclear Power Plant is located.

(37.6) In which state is Tuticorin sea port located ?
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For question no. 37
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